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Worksheet

Circuits
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3. Eight Christmas tree lights are connected in series to line providing 120 V.  Each light is 10 watts.

Find:  I = 

V1 =


R1 =


RT =

4. A 30 ( blender (R1), a 15 ( microwave (R2) and a 10 ( toaster (R3) are hooked in parallel to a 120 V line.  They are all operating.

Find: 
RT =


IT =



PT =


I1 =


P1=


I2 =


P2 =


I3 =


P3 =

5. In the circuit in problem # 4, the blender was turned off.

Find: 
RT =


IT =



PT =


I2 =


P2=


I3 =


P3 =

6. In the above circuit, how much heat was produced by the toaster in 3 minutes?
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8. The damage caused by electric shock depends on the current flowing through the body.  A 1 milliAmp current can be felt.  Five mA is painful.  Above 15 mA a person loses muscle control and 70 mA can be fatal.  A person with dry skin has a resistance from one arm to the other of about 105 ohms.  When the skin is wet, the resistance drops to about 

5 x 103 ohms.

a) What is the minimum voltage placed across the arms that would produce a current that could be felt by a person with dry skin?

b) What current would the same voltage produce if the person had wet skin?

9. Find the reading of each ammeter and each voltmeter:

V1=

V2=

V3=

I1=

I2 =

I3=


10. An electric motor operates a pump that irrigates a farmer’s field by pumping 

10,000 kg of water a vertical distance of 8 m each hour.  He motor has an operating resistance of  22 ohms and is connected across a 110 volt source.

a) What is the current in the motor?

b) How efficient is the motor? 

